N = 0l & At & Ml A

R A= PRIy

g J|gotll E2 &3 =4

2 HWaAs I8 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Il Xl 6,004,879 3,845,555 2,159,324
= 40,000
Al 5,964,879
Jlgato £ &3 1,241,805 952,555 289,250
WHaA= I 319,760 158,400 161,360
=201 NA 117,760 158,400 240,640
201 L2y 9,000 9,000 0
01 At 22l 9,000 9,000 0
OsXJIHNE 2= HME
6,000& » 1,500% 9,000
202 oddl 5,760 6,400 A 640
01 = LH &4 1l 5,760 6,400 A 640
OJIgiz L= W
20,000& = 4F * 6 * 123 5,760
203 YR =& 3,000 3,000 0
03 Al Z=Z =AY 3,000 3,000 0
OJIgXN&d J2F& 3,000,000& 3,000
307 21201 A 100,000 140,000 240,000
02 QAAMAARE 100,000 43,000 57,000
OJIgygzZeAE 2EY 2=XA
3,000,000 * 2000 At 60,000
O&HEFAl J1ZQl oA+ 1,000,000& * 40H 40,000
A D10 S0t E MSUHs 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
OFFAl Il 80ts MU
20,000,000& 20,000
QI JIFFH 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
OXg=gu &MHot= J1gel IHE=H
10,000, 000& 10,000
| SEHiH 3l 18,000 0 18,000
307 21201 A 18,000 0 18,000
04 QIZFHALAIH B = 18,000 0 18,000
OF=Al J1 HIiOIE StttHal 18,000, 000& 18,000
P ALEE MO LE 6,000 0 6,000
307 gl2tol & 6,000 0 6,000
04 DIZHHALALSE E X 6,000 0 6,000
OFAL=E Aol 6,000,000& 6,000




2AH: IR

_,_

HE: J|Yst) B2 B T4
2 HWaAs I8 (=& J)
= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Jlgolol o 40,000 0 40,000
307 gl2tol & 40,000 0 40,000
04 DI2ZHHALALSE E X 40,000 0 40,000
@olgele ¢ 40,000, 000& 40,000
JIgelgos /3s 8,000 0 8,000
307 glz2tol & 8,000 0 8,000
04 DI2HHALAISE E X 8,000 0 8,000
OF=ADJIGCEs AAS 8,000,000 8,000
4= BE=YX ZAUE 100,000 0 100,000
308 XXM SOIA 100,000 0 100,000
10 2/ 2 S 0fl CHEH 2 & X CH 8 AL b 100,000 0 100,000
OHM432 d= SE=Lx ZAUHE
100,000, 000& 100,000
dsst SEHLEE N 6,210 5,760 450
SEY BEsE £8 N 6,210 5,760 450
201 LB-2E| 450 0 450
01 At 2t 2l 450 0 450
OZ2HSE & 2HMEH U= M=
150& = 3,000% 450
202 Oddl 5,760 5,760 0
01 SLHAYI 5,760 5,760 0
O3FSE I oY
20,0003 = 4% « 6 ~ 123 5,760
28 A= NEsY s4 915,835 788,395 127,440
S0 SN 915,835 432,800 483,035
201 Let24d] 14,009 4,800 9,209
01 At 22l 13,709 4,800 8,909
OS5 AXNsSER 1,359,000 1,359
OXATHE 222 M= 3,000& = 1,000% 3,000
OHRE2AMY METZ ME
10,000& » 302 » 73l 2,100
ORYSAIIY AISEE MA
300,000& * 102H 3,000
O==J1ge 2 150,000& * 1574 2,250
OXNDLY MAS HOLA UX
1,000,000& = 23| 2,000
02 3322l 300 0 300
ORNWL DA FFEE VY
300,000& = 13l 300
202 Oddl 2,510 0 2,510




2AM: 01
&

M J|gotl| £E2 &8 =4
Sel: AW Us NALY T4 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 = LH 4 bl 2,510 0 2,510
OaE R HaAAY =X
20,0003 = 28 40 1,600
KB 22T|B HEt Y GEHE
75,8003 * 2% x 63| 910
203 PR =&l 1,000 0 1,000
03 AR Z=Z R =7 Y| 1,000 0 1,000
outgsyd g2 =& 1,000, 000& 1,000
301 L2 A S 1,316 0 1,316
09 HALAHIEA S 1,316 0 1,316
Od4tst 2t sl of AL g4l
7,000& * 10¥ « 63l 420
OMSIBBNR 2es L HEX A3t
32,000& = 14% « 23| 896
306 £ 3 300,000 300,000 0
01 &3 300,000 300,000 0
Os=HIALI3a 2Z XA 300,000,000 300,000
307 21201 A 220,000 120,000 100,000
02 It S AHE L 220,000 120,000 100,000
OAILIOI DI=&AdEH(US) 20,000,000& 20,000
O1AEZILH ZLIAME XA (HS)
20,000,000& 20,000
OS2Iy A2A3AY 180,000
OStEE 2018 G235 80,000,000& 80,000
Odestdty SA01Y A3
100,000, 000& 100,000
308 XXM SO0 327,000 0 327,000
1037/ 2SoHUHS A ALS I 327,000 0 327,000
OXGXATHAZSASE (HS)
300,000,000& * 50% 150,000
OE%2IlY SHAY(US) 57,000
OZ=HMRACLESSIHIE SE AL (BRET)
57,000,000& 57,000
O=sMA Iz SFAXASE(UHS)
50,000,000& 50,000
OACIEEAH AH(US) 20,000,000& 20,000
O0lcHEZE HARUA HeB2AY XA
50,000,000& 50,000
403 Ut S S X201 & 50,000 0 50,000
02 SI| 2SOl CHSHAH 2 X O & AF I 50,000 0 50,000
OXNESFHNSIH SsAEE 2EXA(US)
50,000,000& 50,000
AMYUN LA RE22 RGLty 25 728,814 850,340 A 121,526




AN ISR 0
M MMYE LADIE ZHOR Noagl B
ol AMEE LAY XA (el:de)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 40,000
Al 688,814
AMUM L ADIB =M 728,814 850, 340 A 121,526
= 40,000
Al 688,814
SAEE X2 AY 90,094 73,410 16,684
202 O4dl 1,600 0 1,600
01 = LH 4 Hi 1,600 0 1,600
O AEHERNA AMEZ=E SH0HI
20,0003 = 28 40 1,600
301 gt L= 980 896 84
09 BALAHIE &S 980 896 84
OXNY = AMOIFEES HEHAMX 244 980
O=z2l2 Mz 7,000& * 22% x 23| 308
Oa2Eosl Mzl 7,000& * 16Y = 63l 672
307 glz2tol & 87,514 72,514 15,000
02 It M AHEE 49,000 34,000 15,000
O22 X AP 24,000,000 24,000
oRdE=2zZ2Xt dA=st g 25,000,000& 25,000
03 BIAHNHE2IHIEL 38,514 38,514 0
O AR ZBAIR = 29| 38,514,000& 38,514
22 & @A 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
022 X2 & A 10,000, 000& 10,000
L AEHOtE SBH S 7,000 0 7,000
307 21201 A 7,000 0 7,000
04 QIZFHALAIR B = 7,000 0 7,000
O AtetitE SEHiH S 7,000,000& 7,000
LS AtEIOLE JtE HsUE 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
O AE0lE JtE HsU3 30,000, 000& 30,000
St=2LE stated MIMSUS 20,000 0 20,000
307 glz2tol & 20,000 0 20,000
04 QIZFHALAIH 2 = 20,000 0 20,000
O8t=L & st d=H=EUE
20,000,000& 20,000
N AR B E -3 X3 AY 50,000 50,000 0
= 40,000




2 JIEXE D
M MMYE LADIE ZHOR Noagl B
el AMYHE CADIY E4 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 10,000
307 2iz2to| A 50,000 50,000 0
= 40,000
Al 10,000
02 QIZFA AAIE E X 50,000 50,000 0
OXNACADAEE LT ALY 50,000,000 50,000
= 40,000
Al 10,000
Z22=SXAIE 2 2el 521,720 679,930 A 158,210
307 QI2t0| ™ 470,000 470,000 0
05 QIZtRES 470,000 470,000 0
OsdEIZZANZTE=EAN2 L 2N UOIIHE
P E 300,000,000& 300,000
o=z NEE=& A& 120,000,000 120,000
O2=2=Xl3l2 PE 50,000,000 50,000
401 AlEHIZL 2 0HY| 51,720 209,930 A 158,210
01 Al&EH| 51,212 208,338 AN 157,126
o=tz s s 51,212
OZ2AHHl 47,000,000 = 14! 47,000
O& A& A HI 47 ,000,000& * 8.96% 4,212
03 Al&E 201 Y| 508 1,592 AN 1,084
o222 NHEE IsBLZ2A Al 8
CH Bl 47 ,000,000& = 1.08% 508
HESAAY (DL X2 ) 34,260 42,660 A8,400
Jleddl 34,260 42,660 A8,400
Jl2 &4l 34,260 42,660 A 8,400
201 LBt 9| 15,060 15,060 0
01 AP 22| d| 15,060 15,060 0
OJI2gR8 7,500,000& 7,500
CEELICIEE 7.,560,000& 7,560
202 04| 16,200 16,200 0
01 2Ll 16,200 16,200 0
O =L bl 16,200,000& 16,200
203 €2 F=&d| 3,000 3,000 0
04 EASAEAYGRF 3,000 3,000 0
©2J|=&Hd|(15210]5t) 250,0008 = 12& 3,000
HEESS(JYX) 4,000,000 2,000,000 2,000,000
WEHN X = 4,000,000 2,000,000 2,000,000
LHEAHHX = 4,000,000 2,000,000 2,000,000
702 1282 4,000,000 2,000,000 2,000,000




M Il X2 o
HH: WRESOIFASD)

SHe: WHEAHAXS CEERED)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
0MNII3EES 4,000,000 2,000,000 2,000,000

OsAIIYFEHEII= ¢ 4,000,000,000& 4,000,000






